



Control Cont				Steelcase (Option 1)		HON (Option 2)		(DP	Furniture	Solutions	Office Des	ign Concepts	
193	County Clerk													
Filt Dembas	Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost
Proceeding 3 1,244.50 1,245.50 1,2	J110	Waiting/Law Library												·
Control California 1			7 ft. benches	5	\$876.96	\$4.384.80	\$803.56	\$4.017.80	\$1,464,34	\$7.321.68	\$1.851.11	\$9.255.55	\$365.95	\$1.824.75
No.														
Montage care fluids				2										
An an analysis of the control of t				1										
Comparison of Leasy Base, code Emrission Septem 1			Waiting room Chairs	2	\$403.20	\$806.40	\$437.94	\$875.88	\$584.47	\$1,168.94	\$1,686.01	\$3,372.02	\$280.80	\$561.60
Comparison of Leasy Base, code Emrission Septem 1														
Section Sect			Metal, stackable chairs for kiosks	8	\$53.09	\$424.71	\$88.41	\$707.29	\$167.56	\$1,340.48	\$192.77	\$1,542.16	\$116.55	\$932.40
Section Sect			6 ft. Bars (nicture of Jenny Bar, rustic furniture denot)	2	\$566.40	\$1 132 80	\$720.33	\$1.440.66	\$2 179 46	\$4.358.02	\$1 919 //3	\$3 838 86	\$610.65	\$1 220 30
Service	 		o it. bars (picture or Jermy Bar, rustic furniture depot)	Z	\$300.40	\$1,132.60	\$720.33	\$1,440.00	32,179.40	34,338.32	\$1,515.43	\$3,838.80	3019.03	\$1,239.30
Section Sect			small bookcase	1	\$578.65	\$578.65	\$329.26	\$329.26	\$496.72	\$496.72	\$381.88	\$381.88	\$175.50	\$175.50
			Waiting room chairs, wood or leather (no fabric upholstery)	4	\$65.08	\$260.31	\$53.28	\$213.11	\$250.54	\$1,002.16	\$288.23	\$1,152.92	\$174.60	\$698.40
				WAITING/LAW LIBRARY TOTAL		\$11 806 06		\$0.358.36		\$18,070.45				\$6.885.45
	11.40	Clauda Offica		WAITING/EAW EIBRART TOTAL		φ11,800.00		φ9,336.36		φ16,070.43		φ22,177.23		φυ,003.43
Compart dess	1140		Laborard Dark	1	¢1.702.54	¢1.702.54	Ć1 450 05	Ć1 450.05	¢2.400.02	62.468.02	ć2 112 CF	ć2 112 CF	Ć4 270 F0	¢1 270 FC
Fire Internation 2	\vdash	Jenny Garner												
The Program Fix Colorest 2 \$33,00,00 \$1,00,00 \$20,00 \$	 													
Chairs for guests (parties, leather preferred) 2 5300.37 5400.23 5378.54 5370.71 5570.51 5570.51 5770.51 5														
Mark Area			Chairs for guests (armless, leather preferred)											
144			Office chair	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.50	\$391.50
Angest Frairer Large cabinet with historh 1 51,995.55 51,995.56 51				COUNTY CLERK TOTAL		\$4,694.49		\$5,316.24		\$7,146.28		\$8,428.69		\$5,284.85
Angele Frazier Large colored with hotch 1 51,995.55 51,995.56 51,9	J114	Vitals Area												
Vicial Miller Inverderwerfficeclainers 2 530.46 51.060.92 5371.02 51.742.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.05 51.074.04 5347.15 51.074.04 5347.15 51.074.04 5347.05 51.074.04 5347.05 51.074.04 5347.05 51.074.04 5347.05 51.074.04 5347.05 51.074.04 5347.05 51.074.05			Large cabinet with hutch	1	\$1,995,55	\$1,995,55	\$1,926,78	\$1,926,78	\$1.032.35	\$1.032.35	\$346.79	\$346.79	\$652.95	\$652.95
Court Clerks Cour			 					_						
Secure Securi Security Securit		VICKI WIIIEI												
Style="background-color: 150;">Style="background-color: 150;				1										
Court Clerks				VITALS TOTAL		\$4.480.14		\$4.843.00		\$5.746.25		\$5 247 70		\$5.788.80
Kristry Ellison L-shaped desks 3 \$1,792.54 \$5,377.62 \$1,458.85 \$54,376.55 \$2,771.86 \$58,315.58 \$52,712.65 \$56,337.95 \$51,279.50 \$53,838.30 \$51,792.54 \$53,776.2 \$53,77	F120	Court Clerks		VIIALOTOTAL		ψ4,400.14		ψ 1,010.00		ψο,7 40.20		ψ0,247.70		ψο,, σο.ου
Selen Leyva three drawer file cabinets 3 \$530.46 \$1,591.38 \$581.702 \$2,451.06 \$698.43 \$2,095.29 \$51,278.10 \$53,843.00 \$967.00 \$2,2901.00	. 110		Laborard dealer	2	¢1.702.54	ćr 277.62	Ć1 450 05	Ć4 27C FF	¢2.771.00	60.245.50	ć2 112 CF	¢c 227.05	ć1 270 F0	62.020.50
Sarah Long tall bookcases 3	 	•	- 						- · · · ·					
Selections COURT CLERKS TOTAL Selections Selectio	\vdash	•							<u> </u>				-	
Shelving/Storage		Sarah Long												
State Stat				2	\$495.17		\$370.47						\$391.50	\$783.00
150 Elections			Shelving/Storage			\$0.00		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
1370 Dian try L-shaped desk 3 51,792.54 \$5,377.62 \$5,458.85 \$4,316.55 \$54,316.55 \$52,112.65 \$6,337.95 \$51,279.50 \$53,838.50 \$50,456.55 \$50,456.5				COURT CLERKS TOTAL		\$8,822.44		\$8,918.73		\$13,584.95		\$13,654.36		\$8,506.65
Stephanie Hawes three drawer file cabinets 3 \$530.46 \$1,591.38 \$817.02 \$2,451.06 \$698.43 \$2,095.29 \$1,278.10 \$5,3834.30 \$967.00 \$2,901.00	J150	Elections												
Cris Perez Garcia tall bookcases 2 \$217.98 \$435.96 \$450.06 \$900.12 \$693.26 \$1,386.52 \$647.27 \$1,294.54 \$328.05 \$656.10	J170	Diana Ivy	L-shaped desks	3	\$1,792.54	\$5,377.62	\$1,458.85	\$4,376.55	\$1,437.35	\$4,312.05	\$2,112.65	\$6,337.95	\$1,279.50	\$3,838.50
Cris Perez Garcia tall bookcases 2 \$217.98 \$435.96 \$450.06 \$900.12 \$693.26 \$1,386.52 \$647.27 \$1,294.54 \$328.05 \$656.10		•							- ' '	. ,				
Chairs for guests (armiess, leather preferred) 2 \$20.12 \$40.24 \$236.54 \$473.08 \$368.87 \$737.74 \$499.73 \$999.46 \$389.25 \$578.50														
Small bookcase 2														
Second Control of Co														
Sections total Sect											· · · · · · · · · · · · · · · · · · ·			-
Tally Room Superior Superio			Office chairs		Ş455.17		\$370.47		Ç547.15		\$770.15		\$331.50	
184 L-shaped desk 2 \$1,792.54 \$3,585.08 \$1,458.85 \$2,917.70 \$2,759.55 \$5,519.10 \$2,112.65 \$4,225.30 \$3,285.00 \$3,91.50 \$2,559.00 \$2,	1400	T.II D		ELECTIONS TOTAL		\$9,592.91		\$9,970.74		\$11,166.49		\$15,540.46		\$9,499.60
Second Control of Co		Tally Room			4	4	4	4	4		42	1	4	1 4
6 ft table 1 \$680.77 \$715.08 \$715.08 \$1,140.75 \$1,40.75 \$787.05 \$787.05 \$402.30 \$402.30 1 \$217.98 \$217.98 \$450.06 \$450.06 \$693.26 \$693.26 \$647.27 \$328.05 <td>J184</td> <td></td>	J184													
tall bookcase 1 \$217.98 \$217.98 \$450.06 \$450.06 \$693.26 \$693.26 \$647.27 \$647.27 \$328.05 \$328.05 booking metal cabinet 1 \$377.58 \$377.58 \$761.11 \$761.11 \$499.50 \$499.50 \$804.41 \$804.41 \$1,467.45 \$1,467.45 7 ft. benches 2 \$1,745.28 \$3,490.56 \$803.56 \$1,607.12 \$1,464.35 \$2,928.70 \$1,851.11 \$3,702.22 \$365.85 \$731.70	\vdash													
locking metal cabinet 1 \$377.58 \$377.58 \$761.11 \$761.11 \$499.50 \$499.50 \$804.41 \$1,467.45 \$1	\vdash				· ·				- ' '	. ,				
7 ft. benches 2 \$1,745.28 \$3,490.56 \$803.56 \$1,607.12 \$1,464.35 \$2,928.70 \$1,851.11 \$3,702.22 \$365.85 \$731.70														
			locking metal cabinet	1	\$377.58	\$377.58	\$761.11	\$761.11	\$499.50	\$499.50	\$804.41	\$804.41	\$1,467.45	\$1,467.45
TALLY ROOM TOTAL \$10,332.65 \$7,932.95 \$12,936.55 \$13,246.85 \$7,054.50			7 ft. benches	2	\$1,745.28	\$3,490.56	\$803.56	\$1,607.12	\$1,464.35	\$2,928.70	\$1,851.11	\$3,702.22	\$365.85	\$731.70
				TALLY ROOM TOTAL		\$10,332.65		\$7,932.95		\$12,936.55		\$13,246.85		\$7,054.50





				Steelcase (Option 1) HON (Option 2)		ODP		Furniture Solutions		Office Design Concepts			
J180	· · · · · · · · · · · · · · · · · · ·												
		6 ft folding tables	10	\$84.89	\$848.90	\$84.89	\$848.90	\$763.00	\$7,630.00	\$271.35	\$2,713.50	\$177.30	\$1,773.00
		Folding chairs-Jenny to decide where from outside of bid.	50	\$114.22	\$5,711.00	\$114.22	\$5,711.00	\$403.81	\$20,190.50	\$45.48	\$2,274.00	\$72.90	\$729.00
		storage rack for tables/chairs	1	\$369.78	\$369.78	\$369.78	\$369.78	\$0.00	\$0.00	\$957.03	\$957.03	\$1,011.15	\$1,011.25
			TRAINING ROOM TOTAL		\$6,929.68		\$6,929.68		\$27,820.50		\$5,944.53		\$3,513.25
J174	Breakroom												
		small square kitchen table	2	\$353.73	\$707.46	\$359.56	\$719.12	\$601.94	\$1,203.88	\$624.43	\$1,248.86	\$297.90	\$595.80
		kitchen chairs (or distressed metal)	8	\$114.57	\$916.56	\$106.86	\$854.84	\$167.56	\$1,340.48	\$192.77	\$1,542.16	\$91.80	\$734.40
		Refrigerator	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,200.00	\$1,200.00
		Microwave	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$300.00	\$300.00
		coffee cabinet	1	\$0.00	\$0.00	\$0.00	\$0.00	\$1,589.43	\$1,589.43	\$1,000.37	\$1,000.37	\$513.90	\$513.90
			BREAKROOM TOTAL		\$1,624.02		\$1,573.96		\$4,133.79		\$3,791.39		\$3,344.10
J120	Storage/Records												
	Laura Robinson	L shaped office desk with drawers and hutch	1	\$3,022.44	\$3,022.44	\$2,518.64	\$2,518.64	\$3,917.39	\$3,917.39	\$3,240.01	\$3,240.01	\$1,789.20	\$1,789.20
		metal roller bookshelves (16-19 slots per shelf)	2	\$14,762.22	\$29,524.44	\$14,762.22	\$29,524.44	\$0.00	\$0.00	\$645.47	\$51,637.60		
		small bookcases (width approx. 30 inches)	16	\$149.10	\$2,385.60	\$272.22	\$4,355.56	\$0.00	\$0.00	\$381.88	\$6,110.08	\$441.00	\$7,056.00
		Locking metal shelf	2	\$433.33	\$866.67	\$433.33	\$866.67	\$511.81	\$1,023.62	\$804.41	\$1,608.82	\$1,467.45	\$2,934.90
		metal storage racks for file boxes	30	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
		plat cabinets-all bids missed (Jenny Quotes-Gov Forms & Supplies \$20,900)	4	\$1,667.56	\$6,670.22	\$1,667.56	\$6,670.22	\$0.00	\$0.00	\$0.00	\$0.00	\$1,275.00	\$5,100.00
		STO	RAGE/LAND RECORDS TOTAL		\$42,469.37	\$43,935.53		\$4,941.01		\$62,596.51			\$16,880.10
_			COUNTY CLERK TOTAL		\$100,751.77		\$98,779.28		\$105,546.27		\$150,627.74		\$66,757.30

A116

Attorney #3

RFP 2025 - 005 FURNITURE BID TABULATIONS

. shaped executive desk with return, file drawers on one end and two shelf

abinet on the other end

3 shelf book shelf

Credenza with drawers and cabinet- no hutch

Waiting room chairs, wood or leather (no fabric upholstery)

Armless leather upholstered guest chairs





ODP **Furniture Solutions** Office Design Concepts Steelcase (Option 1) HON (Option 2) DISTRICT ATTORNEY'S DEPARTMENT Estimated Cost Estimated Cost Location, Description & Staff Furniture Request: # of Items Needed \$ per Item \$ per Item Estimated Cost \$ per Item **Estimated Cost** \$ per Item \$ per Item **Estimated Cost** A100 Waiting room Waiting room chairs, wood or leather (no fabric upholstery) \$403.20 \$3,225.60 \$437.94 \$3,503.52 \$436.08 \$3,488.64 \$436.08 \$13,488.08 \$280.80 \$2,246.40 Waiting room chairs, wood or leather (no fabric upholstery) \$848.82 \$1,697.64 \$268.66 \$537.32 \$315.26 \$630.52 \$315.26 \$988.50 \$216.90 \$433.80 WAITING ROOM TOTAL \$4.923.24 \$4,040.84 \$4,119,16 \$14,476.58 \$2,680,20 (Michele Hill) \$859.16 \$859.16 \$898.09 \$898.09 \$1,527.10 \$1,527.10 \$1,919.43 \$1,919.43 \$869.85 \$869.85 A102 Service Desk Credenza with shelves inside cabinet, - no hutch \$406.14 \$1.101.30 \$698.43 \$1,406.00 \$2.812.00 \$983.70 filing cabinets, legal size 2 \$812.28 \$1,101,30 \$1.396.86 \$1.967.40 \$495.17 \$495.17 \$370.47 \$370.47 \$547.15 \$547.15 \$855.11 \$855.11 \$448.20 \$448.20 Waiting room chairs, wood or leather (no fabric upholstery) MICHELE HILL TOTAL \$2,166.61 \$2,369.86 \$3,471.11 \$5,586.54 \$3,285.45 (April Butner) A106 Victim Assistance L shaped office desk with drawers and hutch \$3,022.44 \$3,022.44 \$2,518.64 \$2,518.64 \$2,444,30 \$2,444.30 \$3.240.01 \$3,240.01 \$1,789.20 \$1,789.20 Desk chair with arms, rolling-ergonomic (not mesh) \$495.17 \$495.17 \$370.47 \$370.47 \$547.15 \$547.15 \$855.11 \$855.11 \$448.20 \$448.20 1 \$403.20 \$806.40 \$236.54 \$473.08 \$584.47 \$1,168.94 \$538.56 \$1,077.12 \$280.80 \$561.60 Waiting room chairs wood or vinyl (no fabric upholstery) Waiting room chairs, wood or leather (no fabric upholstery) \$217.98 \$217.98 \$329.26 \$329.26 \$496.72 \$496.72 \$444.91 \$444.91 \$230.85 \$230.85 APRIL BUTNER TOTAL \$4.541.99 \$3,691,45 \$4,657.11 \$5.617.15 \$3.029.85 (Inv. Williams) Attorney #1 L shaped office desk with drawers and hutch \$3,022.44 \$3,022.44 \$2,518.64 \$2.518.64 \$2,860.02 \$2.860.02 \$3.240.01 \$3,240.01 \$1,789.20 \$1,789.20 5 shelf bookshelf 1 \$287.70 \$287.70 \$450.06 \$450.06 \$490.37 \$490.37 \$564.14 \$564.14 \$328.05 \$328.05 \$495.17 \$495.17 \$370.47 \$547.15 \$547.15 \$448.20 Desk chair with arms, rolling-ergonomic (not mesh) \$370.47 \$855.11 \$855.11 \$448.20 \$202.12 \$404.24 \$236.54 \$473.08 \$624.18 \$1,248,36 \$499.73 \$999.46 \$327.15 \$654.30 Armless leather upholstered guest chairs 2 \$406.14 \$406.14 \$440.36 \$440.36 \$1,315.06 \$1,315.06 \$1,406.00 \$1,406.00 \$983.70 \$983.70 Waiting room chairs, wood or leather (no fabric upholstery) 1 **INV WILLIAMS TOTAL** \$4,615.69 \$4,252.61 \$6,460.96 \$7,064.72 \$4,203.45 (John Skotnik) A112 District Attorney Large L shaped executive desk (with pull out writing surface) \$1,882.36 \$1,882.36 \$1,458.85 \$1,458.85 \$1,938.45 \$1,938.45 \$2,672.68 \$2,672.68 \$1,354.05 \$1,354.05 \$1,354.97 \$1,354.97 \$1,342.06 \$2,574.01 \$2,574.01 \$1,786.85 \$963.14 \$963.14 \$1,342.06 \$1,786.85 Executive credenza with drawers and cabinet \$1,235.22 \$1,208.65 Small conference table for 4-6 people 1 \$1,235.22 \$572.06 \$572.06 \$1,208.65 \$919.98 \$919.98 \$402.30 \$402.30 Conference table chairs \$494.40 \$2,966,40 \$370.47 \$2,222.82 \$362.12 \$2,172,72 \$499.73 \$1.998.92 \$336.15 6 \$2.016.90 \$628.27 \$628.27 \$450.06 \$450.06 \$490.37 \$490.37 \$564.14 \$564.14 \$328.05 \$328.05 5 shelf bookcase 1 Waiting room chairs, wood or leather (no fabric upholstery) \$780.83 \$780.83 \$558.73 \$558.73 \$877.90 \$877.90 \$1,406.00 \$1,406.00 \$983.70 \$983.70 DA SKOTNIK TOTAL \$8.848.05 \$6,225.66 \$8,030.15 \$10,135,73 \$6.871.85 (Andy Garner) A114 Attorney #2 \$2,466.35 \$2,466,35 \$1,666,50 \$1,666,50 \$2,493,93 \$2,493,93 \$3.825.16 \$3.825.16 \$1.543.05 \$1.543.05 U shaped executive desk \$287.70 \$450.06 \$450.06 \$490.37 \$328.05 5 shelf bookcase \$287.70 \$490.37 \$564.14 \$564.14 \$328.05 Desk chair with arms, rolling-ergonomic (not mesh) \$495.17 \$495.17 \$370.47 \$370.47 \$547.15 \$547.15 \$855.11 \$855.11 \$448.20 \$448.20 \$499.73 Armless leather upholstered guest chairs 2 \$202.12 \$404.24 \$236.54 \$473.08 \$624.18 \$1,248,36 \$999 46 \$327.15 \$654.30 Waiting room chairs, wood or leather (no fabric upholstery) \$406.14 \$406.14 \$558.73 \$558.73 \$877.90 \$877.90 \$1,406.00 \$1,406.00 \$983.70 \$983.70 ANDY GARNER TOTAL \$4,059,60 \$3.518.84 \$5.657.71 \$7,649,87 \$3,957,30 (Sandye Brown)

\$1,979.96

\$2.028.35

\$160.44

\$202.12

\$406.14

1

2

SANDYE BROWN TOTAL

\$1,979.96

\$2.028.35

\$160.44

\$404.24

\$406.14

\$4,979.13

\$1,508.94

\$963.14

\$329.26

\$236.54

\$558.73

\$1,508.94

\$963.14

\$329.26

\$473.08

\$558.73

\$3,833,15

\$685.32

\$1,210.64

\$302.96

\$624.18

\$0.00

\$685.32

\$1,210,64

\$302.96

\$1,248.36

\$0.00

\$3,447.28

\$2,672.68

\$1,446.65

\$444.91

\$499.73

\$1,406.00

\$2,672.68

\$1,446.65

\$444.91

\$999.46

\$1,406.00

\$6,969.70

\$1,296.90

\$1.818.45

\$230.85

\$327.15

\$983.70

\$1,296.90

\$1.818.45

\$230.85

\$654.30

\$983.70

\$4,984.20





				Steelcase (Option 1)		HON (C	ption 2)	0	DP	Furniture	Solutions	Office Desi	gn Concepts
	(Vanessa Vice)												
A118	Attorney #4	U shaped executive desk	1	\$2,466.35	\$2,466.35	\$1,666.50	\$1,666.50	\$442.84	\$442.84	\$3,825.16	\$3,825.16	\$1,543.05	\$1,543.05
		5 shelf bookcase	1	\$287.70	\$287.70	\$450.06	\$450.06	\$490.37	\$490.37	\$564.14	\$564.14	\$328.05	\$328.05
		Desk chair with arms, rolling-ergonomic (not mesh)	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$855.11	\$855.11	\$448.20	\$448.20
		Armless leather upholstered guest chairs	2	\$202.12	\$404.24	\$236.54	\$473.08	\$624.18	\$1,248.36	\$499.73	\$499.73	\$327.15	\$654.30
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$406.14	\$406.14	\$558.73	\$558.73	\$1,315.06	\$1,315.06	\$1,406.00	\$1,406.00	\$983.70	\$983.70
			VANESSA VICE TOTAL		\$4,059.60		\$3,518.84		\$4,043.78		\$7,150.14		\$3,957.30
	(Inv. Tredway)												
A122	Attorney #6	L shaped office desk with drawers and hutch	1	\$3,022.44	\$3,022.44	\$2,518.64	\$2,518.64	\$4,321.06	\$4,321.06	\$3,858.96	\$3,858.96	\$1,789.20	\$1,789.20
	-	5 shelf bookshelf	1	\$287.70	\$287.70	\$450.06	\$450.06	\$490.37	\$490.37	\$564.14	\$564.14	\$328.05	\$328.05
		Desk chair with arms, rolling-ergonomic (not mesh)	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$855.11	\$855.11	\$448.20	\$448.20
		Armless leather upholstered guest chairs	2	\$202.12	\$404.24	\$236.54	\$473.08	\$624.18	\$1,248.36	\$499.73	\$999.46	\$327.15	\$654.30
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$406.14	\$406.14	\$558.73	\$558.73	\$1,315.06	\$1,315.06	\$1,406.00	\$1,406.00	\$983.70	\$983.70
			INV TREDWAY TOTAL		\$4,615.69		\$4,370.98		\$7,922.00		\$7,683.67		\$4,203.45
	(Julie McIntyre)				+ 1,0 <u>- 1,0</u> - 1,0 -		+ 1,01 0100		-		41,000.01		+ 1,200 110
A126	Attorney #7	U shaped desk with drawers on one end and hutch	1	\$3,547.77	\$3,547.77	\$2,632.97	\$2,632.97	\$4,410.53	\$4,410.53	\$4,952.52	\$4,952.52	\$2,040.30	\$2,040.30
	,	Waiting room chairs, wood or leather (no fabric upholstery)	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$855.11	\$855.11	\$448.20	\$448.20
		, , , , , , , , , , , , , , , , , , ,	JULIE MCINTYRE TOTAL		\$4,042.94		\$3,003.44		\$4,957.68		\$5,807.63		\$2,488.50
	(Sonia Woods)		JOLIE PIGINTINE TOTAL		φ 4 ,042.54		φ3,003.44		φ4,337.00		φ3,807.03		φ2,466.30
A130	Attorney #8	U shaped desk with drawers on one end and hutch	1	\$3,547.77	\$3,547.77	\$2,632.97	\$2,632.97	\$4,410.53	\$4,410.53	\$4,952.52	\$4,952.52	\$2,040.30	\$2,040.30
A130	Attorney #0	Waiting room chairs, wood or leather (no fabric upholstery)	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$855.11	\$855.11	\$448.20	\$448.20
		watering room chains, wood or reactics (no tablic apprositely)	20114 W2000 TOTAL	φ400.17		ψο/ σ. 47		ψ047.10		φοσο.11		ψ440.20	
	(2 11 111 111 1		SONIA WOODS TOTAL		\$4,042.94		\$3,003.44		\$4,957.68		\$5,807.63		\$2,488.50
	(Grand Jury Waiting)	Amelian Indiana and a same and a	0	#00F 04	04.444.44	A470.00	M4 440 04	000440	#0.74F.00	A400 70	#0.000.00	4007.45	\$4.000.00
A-1	Corridor	Armless leather upholstered guest chairs	6	\$235.24	\$1,411.44	\$473.08	\$1,419.24	\$624.18	\$3,745.08	\$499.73	\$2,998.38	\$327.15	\$1,962.90
		Mobile training table (small rolling table with leg space for seated Grand Jury	1	\$405.04	\$405.04	\$376.93	\$376.93	\$729.79	\$729.79	\$613.47	\$613.47	\$317.70	\$317.70
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$374.28	\$374.28	\$223.41	\$223.41	\$582.49	\$582.49	\$638.59	\$638.59	\$324.90	\$324.90
			1	ψ574.20	·	Ψ225.41		ψ302.43		ψ030.33		ψ324.30	
			GRAND JURY WAITING TOTAL		\$2,190.76		\$2,019.58		\$5,057.36		\$4,250.44		\$2,605.50
	(Conf Room 1)			4		*			4			4	
A104	Conference	Small conference table for 4-6 people	1	\$604.08	\$604.08	\$674.68	\$674.68	\$1,208.65	\$1,208.65	\$919.98	\$919.98	\$402.30	\$402.30
		Waiting room chairs, wood or leather (no fabric upholstery)	6	\$235.24	\$1,411.44	\$236.54	\$1,419.24	\$346.24	\$2,077.44	\$499.73	\$1,998.92	\$327.15	\$1,962.90
			CONF ROOM 1 TOTAL		\$2,015.52		\$2,093.92		\$3,286.09		\$2,918.90		\$2,365.20
	(Conf Room 2)												
A108	Conference	Small conference table for 4-6 people	1	\$604.08	\$604.08	\$674.68	\$674.68	\$1,208.65	\$1,208.65	\$919.98	\$919.98	\$402.30	\$402.30
		Waiting room chairs, wood or leather (no fabric upholstery)	6	\$235.24	\$1,411.44	\$236.54	\$1,419.24	\$346.24	\$2,077.44	\$499.73	\$1,998.92	\$327.15	\$1,962.90
			CONF ROOM 2 TOTAL		\$2,015.52		\$2,093.92		\$3,286.09		\$2,918.90		\$2,365.20
	(Nathan Young)												
A120	Attorney #5	Large Executive desk	1	\$1,431.66	\$1,431.66	\$1,017.68	\$1,017.68	\$2,196.14	\$2,196.14	\$2,059.21	\$2,059.21	\$912.15	\$912.15
		Credenza	1	\$1,302.89	\$1,302.89	\$960.31	\$960.31	\$2,681.74	\$2,681.74	\$1,446.65	\$1,446.65	\$702.45	\$912.15
		Armless leather upholstered guest chairs	2	\$235.24	\$470.48	\$236.54	\$473.08	\$624.18	\$1,248.36	\$499.73	\$999.46	\$327.15	\$654.30
		5 shelf bookcase	1	\$287.70	\$287.70	\$450.06	\$450.06	\$490.37	\$490.37	\$564.14	\$564.14	\$328.05	\$328.05
		matching 2 drawer file cabinet	1	\$406.14	\$406.14	\$558.73	\$558.73	\$812.78	\$812.78	\$949.21	\$949.21	\$610.65	\$610.65
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$495.17	\$495.17	\$370.47	\$370.47	\$914.43	\$914.43	\$855.11	\$855.11	\$448.20	\$448.20
			NATHAN YOUNG TOTAL		\$4,394.04		\$3,830.33		\$8,343.82		\$6,873.78		\$3,865.50
	(Grand Jury & bailiffs)												
A128	Grand Jury	Large conference table, big enough for 16 people	1	\$4,480.80	\$4,480.80	\$1,886.68	\$1,886.68	\$4,547.12	\$4,547.12	\$2,298.57	\$2,298.57	\$2,199.15	\$2,199.15
		Leather upholstered arm chairs	16	\$239.40	\$3,830.40	\$370.47	\$5,927.52	\$803.25	\$12,852.00	\$538.56	\$8,616.96	\$336.15	\$5,378.40
		Computer desk with printer shelf	1	\$976.45	\$976.45	\$836.28	\$836.28	\$901.73	\$901.73	\$421.11	\$421.11	\$355.50	\$355.50
		Desk chair, armless	2	\$374.28	\$748.56	\$370.47	\$740.94	\$914.43	\$1,828.86	\$638.59	\$1,277.18	\$324.90	\$649.80
		Waiting room chairs, wood or leather (no fabric upholstery)	2	\$235.24	\$470.48	\$437.94	\$875.88	\$624.18	\$1,248.36	\$538.56	\$1,077.12	\$280.80	\$561.60





				Steelcase	e (Option 1)	HON (Option 2)		ODP		Furniture Solutions		Office Design Concepts	
		GRA	ND JURY AND BAILIFFS TOTAL		\$10,506.69		\$10,267.30	\$21,378.07		\$13,690.94			\$9,144.45
	(Files & copier)												
A124a	Secretary	n/a	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
A124b	Secretary	n/a	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
A124c	Secretary	n/a	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
A124d	Files	n/a	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			FILES & COPIER TOTAL		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	DA'S DEPT TOTAL				\$72,018.01		\$62,134.16	\$99,076.05			\$114,602.32		\$62,495.90





		Steelcase (Option 1)		HON (C	Option 2)	10)P	Furniture	Solutions	Office Desi	ign Concepts		
336th Distric	t Court												
Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost
C120	COURT COORDINATOR												
		L Shaped Desk w/ hutch w/2 filing drawers	1	\$3,022.44	\$3,022.44	\$2,518.64	\$2,518.64	\$2,614.64	\$2,614.64	\$3,240.01	\$3,240.01	\$1,789.20	\$1,789.20
		Ergonomic Desk chair	1	\$495.17	\$495.17	\$370.47	\$370.47	\$852.08	\$852.08	\$770.15	\$770.15	\$391.50	\$391.5
		Shelving unit 4-5 shelves for 3 ring binders/books	1	\$217.98	\$217.98	\$450.06	\$450.06	\$693.26	\$693.26	\$509.32	\$509.32	\$328.05	\$328.0
		2-3 drawer filing cabinet	1	\$406.14	\$406.14	\$558.73	\$558.73	\$698.43	\$698.43	\$949.21	\$949.21	\$1,442.70	\$1,442.7
		Chairs w/arms w/wheels	2	\$244.13	\$488.26	\$236.54	\$473.08	\$426.04	\$852.08	\$538.56	\$1,077.12	\$233.10	\$466.2
		Printer Stand	1	\$571.27	\$571.27	\$322.80	\$322.80	\$759.97	\$759.97	\$557.74	\$557.74	\$513.90	\$513.9
			COURT COORDINATOR TOTAL		\$5,201.26		\$4,693.78		\$6,470.46		\$7,103.55		\$4,931.5
C124	COURT REPORTER												
		L Shaped Desk w/hutch w/2 filing drawers	1	\$3,022.44	\$3,022.44	\$2,518.64	\$2,518.64	\$2,614.64	\$2,614.64	\$3,240.01	\$3,240.01	\$1,789.20	\$1,789.2
		Ergonomic Desk chair	1	\$495.17	\$495.17	\$370.47		\$538.43	\$538.43	\$770.15	\$770.15	\$391.50	
		Shelving unit 4-5 shelves for 3 ring binders/books	1	\$217.98	\$217.98	\$450.06		\$693.26	\$693.26	\$509.32		\$328.05	· · · · · · · · · · · · · · · · · · ·
		2-3 drawer filing cabinet	1	\$406.14	\$406.14	\$558.73		\$698.43	\$698.43	\$949.21	\$949.21	\$1,442.72	\$1,442.7
		Chairs w/arms w/wheels	2	\$244.13	\$488.26	\$236.54	\$473.08	\$381.97	\$763.94	\$538.56	\$1,077.12	\$233.10	\$466.2
		Printer Stand	1	\$571.27	\$571.27	\$322.80	\$322.80	\$759.97	\$759.97	\$557.74	\$557.74	\$513.90	\$513.9
			COURT REPORTER TOTAL		\$5,201.26		\$4,693.78		\$6,068.67		\$7,103.55		\$4,931.5
C130	336TH DISTRICT JUDGE				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Ţ 1,000.11 C		¥ 1,0 2 2 1 2 1		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		7 1,000.00
0200		L Shaped desk w/hutch w/2filing drawers	1	\$3.098.27	\$3,098.27	\$2,518.64	\$2,518.64	\$4.056.35	\$4,056.35	\$3,240.01	\$3,240.01	\$1,789.20	\$1,789.2
		Ergonomic desk chair	1	\$495.17	\$495.17	\$370.47		\$538.81	\$538.81	\$770.15	\$770.15	\$447.75	\$447.75
		Shelving unit 4-5 shelves for 3 ring binders/books	1	\$722.19	\$722.19	\$450.06		\$490.37	\$490.37	\$509.32	\$509.32	\$328.05	\$328.0
		2-3 drawer filing cabinet	1	\$1,334.06		\$558.73	\$558.73	\$1,380.58	\$1,380.58	\$949.21	\$949.21	\$1,442.70	\$1,442.70
		Meeting table	1	\$1,500.15	\$1,500.15	\$572.06		\$900.14	\$900.14	\$906.73	\$906.73	\$402.30	
		Chairs w/arms	8	\$530.88	\$4,247.04	\$370.47	\$2,963.76	\$362.12	\$2,896.96	\$538.56		\$280.80	
		Printer	1	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00	\$0.00	\$500.00	\$500.00
		Printer stand	1	\$571.27	\$571.27	\$322.80	\$322.80	\$636.09	\$636.09	\$557.74	\$557.74	\$513.90	\$513.90
			336TH DISTRICT JUDGE TOTAL		\$11,968.15		\$7,756.52		\$10,899.30		\$11,241.64		\$7,670.30
C132	BAILIFF												
		L Shaped Desk w/hutch w/2 filing drawers	1	\$2,864.14	\$2,864.14	\$2,518.64	\$2,518.64	\$2,451.85	\$2,451.85	\$3,240.01	\$3,240.01	\$1,789.20	\$1,789.20
		Ergonomic chair armless or ablility to fold the arms back	1	\$288.83	\$288.83	\$288.83		\$582.49	\$582.49	\$770.15	\$770.15	\$293.85	
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$217.98		\$450.06		\$490.37	\$490.37	\$509.32		\$328.05	
•			BAILIFF TOTAL		\$3,370.95		\$3,257.53		\$3,524.71		\$4,519.48		\$2,411.10
C134	JURY DELIBERATION		BAILITTOTAL		ψ5,570.55		ψ0,207.00		ψ5,524.71		ψ4,010.40		Ψ2,411.11
0104	JOHN BELIBEITATION	Large Table Round/Rectangle/Oval	1	\$2,414.00	\$2,414.00	\$2,414.00	\$2,414.00	\$2,817.53	\$2,817.53	\$1,978.36	\$1,978.36	\$2,201.85	\$2,201.20
		Chairs w/arms	13	\$2,414.00	\$3,112.20	\$370.47	\$4,816.11	\$345.44	\$4,490.72	\$538.56	\$7,001.28	\$340.65	\$4,428.4
		Lounge type chairs	4	\$672.42	\$2,689.68	\$992.63		\$1,465.54	\$5,862.16	\$1,686.01	\$6,744.04	\$670.95	
		Waiting room chairs, wood or leather (no fabric upholstery)	2	\$226.21	\$452.42	\$268.66		\$569.38	\$1,138.76	\$494.95		\$216.90	
		, , , , , , , , , , , , , , , , , , , ,	JURY DELIBERATION TOTAL	,	\$8,668.30	+======	\$11,737.95	722300	\$14,309.17	Ţ.: 1100	\$16,713.58	+==3100	\$9,747.2
C100	COURT ROOM		JOHN DELIBERATION TOTAL		φο,σσο.30		φ11,737.95		φ14,303.17		\$10,713.36		φ5,747.23
0100	COOM NOO!	Ergonomic desk chairs	3	\$451.92	\$1,355.76	\$370.47	\$1,111.41	\$538.81	\$1,616.43	\$770.15	\$2,310.45	\$391.50	\$1,174.50
		Tall stool type chair w/footrest	1	\$568.68	\$1,355.76 \$568.68	\$417.33		\$704.38	\$1,616.43	\$770.15		\$391.50	
		Veradesk	1	\$458.33	\$458.33	\$458.33	3 \$458.33	\$0.00	\$0.00	\$330.74	\$330.74	\$800.00	<u> </u>
		Juror chairs	13	\$466.62	\$6,066.06	\$466.62	\$6,066.06	\$1,276.15	\$16,589.95	\$538.56	\$7,001.28	\$702.00	
		Audience seating	82	\$818.24	\$67,095.68	\$818.24		\$481.23	\$39,460.86	\$538.56	\$44,161.92	\$321.42	\$26,356.0
		Copier	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
		Rectangle tables	3	\$566.40	\$1,699.20	\$643.16		\$756.00	\$2,268.00	\$613.47	\$1,840.41	\$285.30	\$855.9
		Waiting room chairs, wood or leather (no fabric upholstery)	12	\$456.54		\$437.94		\$520.15	\$6,241.80	\$538.56		\$280.80	
			336TH COURT ROOM TOTAL	Ţ .0010 I	\$82,722.19	Ţ.3710 I	\$82,333.57	Ţ=3120	\$66,881.42	+100100	\$62,895.48	+ =30100	\$41,936.7
			330TH COURT ROUM TOTAL										
					\$117,132.11	\$114,473.13		\$108,153.73			\$109,577.28		\$71,628.52





				Steelcase (Option 1)		HON (O	ption 2)	10)P	Furniture S	olutions	Office Desig	gn Concepts
District Clerk													
Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost
B102	April Gibbs												
		L shaped desk with drawers and hutchexecutive	1	\$3,022.44	\$3,022.44	\$2,518.64	\$2,518.64	\$3,499.28	\$3,499.28	\$3,858.96	\$3,858.96	\$1,789.20	\$1,789.20
		Desk Chair with arms, rolling- ergonomic	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.50	\$391.50
		Locking - Tall filing cabinet-wooden to fit legal size files- 38" x 21"x 53.5"	2	\$669.48	\$1,338.96	\$1,147.36	\$2,294.72	\$1,755.80	\$3,511.60	\$1,305.05	\$2,610.10	\$1,787.60	\$3,535.20
		5'x2' extra desk	1	\$400.26	\$400.26	\$348.25	\$348.25	\$1,101.85	\$1,101.85	\$1,446.65	\$1,446.65	\$267.75	\$267.75
		guest chair	2	\$202.12	\$404.24	\$236.54	\$473.08	\$584.47	\$1,168.94	\$538.56	\$1,077.12	\$233.10	\$466.20
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$160.44	\$160.44	\$329.26	\$329.26	\$386.74	\$386.74	\$444.91	\$444.91	\$230.85	\$230.85
			APRIL GIBBS TOTAL		\$5,821.51		\$6,334.42		\$10,215.56		\$10,207.89		\$6,680.70
B100	Jennifer Ballard												
		L shaped desk with drawers and a hutch	1	\$3,022.44	\$3,022.44	\$2,518.64	\$2,518.64	\$2,502.27	\$2,502.27	\$3,240.01	\$3,240.01	\$1,789.20	\$1,789.20
		Desk Chair with arms, rolling- ergonomic	1	\$495.17	\$495.17	\$370.47	\$370.47	\$538.81	\$538.81	\$770.15	\$770.15	\$391.50	\$391.50
		3 shelf book case	1	\$160.44	\$160.44	\$329.26	\$329.26	\$496.72	\$496.72	\$509.32	\$509.32	\$230.85	\$230.85
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$202.12	\$202.12	\$236.54	\$236.54	\$381.97	\$381.97	\$538.56	\$538.56	\$230.85	\$230.85
			JENNIFER BALLARD TOTAL		\$3,880.17		\$3,454.91		\$3,919.77		\$5,058.04		\$2,642.40
B110	Fran Matchett												·
		L shaped desk	1	\$2,330.18	\$2,330.18	\$1,314.22	\$1,314.22	\$1,363.90	\$1,363.90	\$2,112.65	\$2,112.65	\$1,575.00	\$1,575.00
		Desk Chair with arms, rolling- ergonomic	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.50	\$391.50
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$537.64	\$537.64	\$268.66	\$268.66	\$0.00	\$0.00	\$557.74	\$557.74	\$208.15	\$208.15
			FRAN MATCHETT TOTAL		\$3,362.99		\$1,953.35		\$1,911.05		\$3,440.54		\$2,174.65
B110	Kelly Norman		THANTIATOTIETT TOTAL		ψο,σοΣ.σσ		\$1,000.00		\$1,011.00		ψο,++ο.ο+		ψ <u>2,17</u> 4.00
	,	9x9 cubicle or modular desk4-1/2' tall L shaped desk with pull out keyboard	1	\$5,627.71	\$5,627.71	\$4,912.00	\$4,912.00	\$4.336.95	\$4,336.95	\$8,517.62	\$8,517.62	\$3,808.00	\$3,808.00
		drawer- 2 top cabinets - 2 lower drawers	•	\$0.00	\$0.00	\$0.00	\$0.00	\$ 1,000,00	ψ 1,000100	\$0.00	\$0.00	\$0.00	\$0.00
		Desk Chair with arms, rolling- ergonomic	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.00	\$391.00
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$537.64	\$537.64	\$167.57	\$167.57	\$0.00	\$0.00	\$557.74	\$557.74	\$208.15	\$208.15
L		, , , , , , , , , , , , , , , , , , , ,	KELLY NORMAN TOTAL		\$6,660.52		\$5,450.04		\$4,884.10		\$9,845.51		\$4,407.15
B110	Cheryl Dane		RELET NORMAN TOTAL		φ0,000.32		φ5,450.04		φ 4 ,004.10		49,043.31		φ4,407.13
BIIO	Cheryt Bane	9x9 cubicle or modular desk4-1/2' tall L shaped desk with pull out keyboard	1	\$5,627.71	\$5,627.71	\$4,912.00	\$4,912.00	\$4.336.95	\$4,336.95	\$8,517.62	\$8,517.62	\$3.808.00	\$3,808.00
		drawer- 2 top cabinets - 2 lower drawers	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		Desk Chair with arms, rolling- ergonomic	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.00	\$391.00
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$537.64	\$537.64	\$167.57	\$167.57	\$0.00	\$0.00	\$557.74	\$557.74	\$208.15	\$208.15
		watering room chairs, wood or reacher (no tabile apholistery)	-	ψου7:04	\$6,660.52	Ψ107.07	\$5,450.04	φυ.σσ	\$4,884.10	φοσ7.74	\$9,845.51	Ψ200.10	\$4,407.15
D110	Casay Pashlas		CHERYL DANE TOTAL		\$6,660.52		\$5,450.04		\$4,884.10		\$9,845.51		\$4,407.15
B110	Casey Peebles	9x9 cubicle or modular desk4-1/2' tall L shaped desk with pull out keyboard		A5 007 74	Å5 007 74	44.040.00	* 1.010.00	44.000.05	44.000.05	40.547.00	A0.547.00	40.000.00	40.000.00
-		drawer- 2 top cabinets - 2 lower drawers	1	\$5,627.71	\$5,627.71	\$4,912.00	\$4,912.00	\$4,336.95	\$4,336.95	\$8,517.62	\$8,517.62	\$3,808.00	\$3,808.00
-			1	\$0.00	\$0.00	\$0.00	\$0.00	A 5.47.45	45.47.45	\$0.00	\$0.00	#004.00	#004.00
-		Desk Chair with arms, rolling- ergonomic Waiting room chairs, wood or leather (no fabric upholstery)	1	\$495.17 \$537.64	\$495.17 \$537.64	\$370.47 \$167.57	\$370.47 \$167.57	\$547.15 \$0.00	\$547.15 \$0.00	\$770.15 \$557.74	\$770.15 \$557.74	\$391.00 \$208.15	\$391.00 \$208.15
		waiting room chairs, wood or leather (no fabric uphoistery)	1	\$537.64		\$167.57		\$0.00		\$557.74		\$208.15	
			CASEY PEEBLES TOTAL		\$6,660.52		\$5,450.04		\$4,884.10		\$9,845.51		\$4,407.15
B110	Casey Fry												
-		drawer- 2 top cabinets - 2 lower drawers	1	\$5,627.71	\$5,627.71	\$4,912.00	\$4,912.00	\$4,336.95	\$4,336.95	\$8,517.62	\$8,517.62	\$3,808.00	\$3,808.00
-		Desk Chair with arms, rolling- ergonomic		\$0.00	\$0.00	\$0.00	\$0.00	1	1	\$0.00	\$0.00	4	4000
-		2'x2' side table(used for printer)	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.00	\$391.00
		_ ,	1	\$537.64	\$537.64	\$167.57	\$167.57	\$0.00	\$0.00	\$557.74	\$557.74	\$208.15	\$208.15
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$1,464.88	\$1,464.88	\$1,147.31	\$1,147.31	\$0.00	\$0.00	\$1,000.37	\$1,000.37	\$1,787.50	\$1,787.50
			CASEY FRY TOTAL		\$8,125.40		\$6,597.35		\$4,884.10		\$10,845.88		\$6,194.65





				Steelcase (Option 1)		HON (Option 2)		ODP		Furniture So	lutions	Office Design	Concepts
B110	Jennie Little												
		9x9 cubicle or modular desk4-1/2' tall L shaped desk with pull out keyboard	1	\$5,627.71	\$5,627.71	\$4,912.00	\$4,912.00	\$4,336.95	\$4,336.95	\$8,517.62	\$8,517.62	\$3,808.00	\$3,808.00
		drawer- 2 top cabinets - 2 lower drawers		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
		Desk Chair with arms, rolling- ergonomic	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.00	\$391.00
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$537.64	\$537.64	\$167.57	\$167.57	\$0.00	\$0.00	\$557.74	\$557.74	\$208.15	\$208.15
			JENNIE LITTLE TOTAL		\$6,660.52		\$5,450.04		\$4,884.10		\$9,845.51		\$4,407.15
B110	Beth Berry												
		9x9 cubicle or modular desk4-1/2' tall L shaped desk with pull out keyboard	1	\$5,627.71	\$5,627.71	\$4,912.00	\$4,912.00	\$4,336.95	\$4,336.95	\$8,517.62	\$8,517.62	\$3,808.00	\$3,808.00
		drawer- 2 top cabinets - 2 lower drawers		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
		Desk Chair with arms, rolling- ergonomic	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.00	\$391.00
		2'x2' side table(used for printer)	1	\$537.64	\$537.64	\$167.57	\$167.57	\$0.00	\$0.00	\$557.74	\$557.74	\$208.15	\$208.15
		4 drawer wooden filing cabinet(jury)	1	\$1,464.88	\$1,464.88	\$1,147.31	\$1,147.31	\$0.00	\$0.00	\$1,000.37	\$1,000.37	\$1,787.50	\$1,787.50
			BETH BERRY TOTAL		\$8,125.40		\$6,597.35		\$4,884.10		\$10,845.88		\$6,194.65
	Office												
		credenza 5' 6" long x 2' 6" Tall (Copier/Fran, Storage area, Mail)	3	\$1,039.19	\$3,117.57	\$898.09	\$2,694.27	\$0.00	\$0.00	\$1,919.43	\$5,758.29	\$1,450.00	\$4,350.00
		Tall filing cabinet-wooden to fit legal size files- 38" x 21"x 53.5"(storage of	2	\$1,464.88	\$2,929.76	\$1,147.31	\$2,294.62	\$0.00	\$0.00	\$1,305.05	\$2,610.10	\$1,787.50	\$3,575.00
		office supplies)		\$480.00	\$480.00	\$480.00	\$480.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		89" x 2' x 89" metal filing shelf for legal size files	1	\$469.56	\$469.56	\$369.66	\$369.66	\$0.00	\$0.00	\$919.98	\$919.98	\$0.00	\$0.00
		Waiting room chairs, wood or leather (no fabric upholstery)	1	\$202.12	\$808.48	\$236.54	\$946.16	\$0.00	\$0.00	\$538.56	\$2,154.24	\$1,200.00	\$1,200.00
			OFFICE TOTAL		\$7,805.37		\$6,784.71		\$0.00		\$11,442.61		\$9,125.00
	Lobby												
		Waiting room chairs, wood or leather (no fabric upholstery)	6	\$0.00	\$0.00	\$0.00	\$0.00	\$411.30	\$2,467.80	\$499.73	\$2,998.38	\$280.80	\$1,684.80
			LOBBY TOTAL		\$0.00		\$0.00		\$2,467.80		\$2,998.38		\$1,684.80
B130	FILES STORAGE												
		2 DRAWER FILE CABINETS	4 OR 5	\$0.00	\$0.00	\$0.00	\$0.00	\$579.31	\$2,317.24	\$949.21	\$3,796.84	\$326.70	\$1,633.50
			FILE STORAGE TOTAL		\$0.00		\$0.00		\$2,317.24		\$3,796.84		\$1,633.50
B120	FILES STORAGE												
		METAL 4 OR 6 DRAWER FILE CABINETS	4 OR 5	\$0.00	\$0.00	\$0.00	\$0.00	\$857.25	\$4,286.25	\$1,000.37	\$4,001.48	\$547.20	\$1,633.50
			FILE STORAGE TOTAL		\$0.00		\$0.00		\$4,286.25		\$4,001.48		\$4,951.80
			DISTRICT CLERK TOTAL		\$63,762.92		\$53,522.25		\$54,422.27		\$102,019.58		\$58,910.75





			Steelcase (Option 1)		HON (C	ption 2)	01	OP	Furniture S	olutions	Office Desig	gn Concepts	
County Cour													
Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost								
E130	COUNTY COURT @ LAW												
		Large Executive Desk w/Hutch (no L) credenza w/Hutch	1	\$3,151.21	\$3,151.21	\$2,632.97	\$2,632.97	\$4,422.84	\$4,422.84	\$3,858.96	\$3,858.96	\$1,789.20	\$1,789.20
-		4 Drawer Bookcase	1	\$1,464.88	\$1,464.88	\$1,147.36	\$1,147.36	\$0.00	\$0.00	\$509.32	\$509.32	\$1,767.60	\$1,767.60
-		Armoire (to hang robe)	1	\$678.31	\$678.31	\$1,240.68	\$1,240.68	\$1,552.90	\$1,552.90	\$901.25	\$901.25	\$650.25	\$650.25
-		Desk Chair	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$448.20	\$448.20
		Chairs in Front of Desk	2	\$403.20	\$806.40	\$236.54	\$473.08	\$624.18	\$1,248.36	\$538.56	\$1,077.12	\$280.80	\$561.60
		C	OUNTY COURT AT LAW TOTAL		\$6,595.97		\$5,864.56		\$7,771.25		\$7,116.80	1	\$5,216.85
E132	BAILIFF			4					*	*		4	4
		L Shaped Desk w/hutch w/2 filing drawers	1	\$2,847.32	\$2,847.32	\$2,518.64	\$2,518.64	\$2,451.85	\$2,451.85	\$3,240.01	\$3,240.01	\$1,789.20	\$1,789.20
-		Ergonomic chair armless or ablility to fold the arms back	1	\$288.83	\$288.83	\$288.83	\$288.83	\$582.49	\$582.49	\$770.15	\$770.15	\$293.85	\$293.85
		Shelving unit 4-5 shelves for 3 ring binders/books	1	\$217.98	\$217.98	\$450.06	\$450.06	\$490.37	\$490.37	\$509.32	\$509.32	\$328.05	\$328.05
		_	BAILIFF TOTAL		\$3,354.13		\$3,257.53		\$3,524.71		\$4,519.48		\$2,411.10
E124	COURT REPORTER												
	Lana	L Shaped Desk (u shaped instead, remove 2 drawer filin cab)	1	\$2,342.90	\$2,342.90	\$1,458.85	\$1,458.85	\$2,851.90	\$2,851.90	\$2,112.65	\$2,112.65	\$1,522.80	\$1,522.80
		Credneza	1	\$0.00	\$0.00	\$963.14	\$963.14	\$0.00	\$0.00	\$1,919.43	\$1,919.43	\$290.25	\$290.25
		2 Drawer filing cabinet	1	\$885.41	\$885.41	\$558.73	\$558.73	\$591.62	\$591.62	\$949.21	\$949.21	\$610.65	\$610.65
		2 drawer filing cabinet w/bookshelf	1	\$1,227.02	\$1,227.02	\$871.02	\$871.02	\$1,358.34	\$1,358.34	\$1,297.74	\$1,297.74	\$908.10	\$908.10
-		Chairs in Front of Desk	2	\$202.12	\$404.24	\$236.54	\$473.08	\$381.97	\$763.94	\$538.56	\$1,077.12	\$233.10	\$466.20
		Desk chair	1	\$495.17	\$495.17	\$370.47	\$370.47	\$538.81	\$538.81	\$770.15	\$770.15	\$391.50	\$391.50
			COURT REPORTER TOTAL		\$5,354.74		\$4,695.29		\$6,104.61		\$8,126.30		\$4,189.50
E120	COURT COORDINATOR	178 sq ft											
	Monique	Regular Desk	1	\$1,431.66	\$1,431.66	\$928.39	\$928.39	\$1,448.87	\$1,448.87	\$1,259.83	\$1,259.83	\$659.00	\$659.00
		Closet Cabinet	1	\$377.58	\$377.58	\$1,240.68	\$1,240.68	\$1,552.90	\$1,552.90	\$901.25	\$901.25	\$650.26	\$650.26
		Desk Chair	1	\$495.17	\$495.17	\$370.47	\$370.47	\$547.15	\$547.15	\$770.15	\$770.15	\$391.50	\$391.50
			COURT COORDINATOR TOTAL		\$2,304.41		\$2,539.54		\$3,548.92		\$2,931.23		\$1,700.76
E134	JURY DELIBERATION												
		Large Table Round/Rectangle/Oval	1	\$2,414.00	\$2,414.00	\$2,414.00	\$2,414.00	\$2,817.53	\$2,817.53	\$1,978.36	\$1,978.36	\$4,886.65	\$4,886.65
		Chairs w/arms	13	\$239.40	\$3,112.20	\$370.47	\$4,816.11	\$345.44	\$4,490.72	\$538.56	\$7,001.28	\$336.15	\$4,369.95
		Lounge type chairs	4	\$672.42	\$2,689.68	\$992.63	\$3,970.52	\$1,465.54	\$5,862.16	\$1,686.01	\$6,744.04	\$670.95	\$2,683.80
		End tables	2	\$226.21	\$452.42	\$268.66	\$537.32	\$569.38	\$1,138.76	\$494.25	\$988.50	\$216.90	\$433.80
			JURY DELIBERATION TOTAL		\$8,668.30		\$11,737.95		\$14,309.17		\$16,712.18		\$12,374.20
E100	COURT ROOM												
		Ergonomic desk chairs	3	\$451.92	\$1,355.76	\$370.47	\$1,111.41	\$538.81	\$1,616.43	\$770.15	\$2,310.45	\$391.50	\$1,174.50
		Tall stool type chair w/footrest	1	\$568.68	\$568.68	\$417.33	\$417.33	\$704.38	\$704.38	\$787.96	\$787.96	\$254.70	\$254.70
		Veradesk	1	\$458.33	\$458.33	\$458.33	\$458.33	\$0.00	\$0.00	\$330.74	\$330.74	\$800.00	\$800.00
		Juror chairs	13	\$466.62	\$6,066.06	\$466.62	\$6,066.06	\$1,276.15	\$16,589.95	\$538.56	\$7,001.28	\$702.00	\$9,126.00
		Audience seating	82	\$818.24	\$67,095.68	\$818.24	\$67,095.68	\$481.23	\$39,460.86	\$538.56	\$44,161.92	\$321.42	\$26,356.05
		Copier	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$800.00	\$800.00
——		Rectangle tables	3	\$566.40	\$1,699.20	\$643.16	\$1,929.48	\$2,268.00	\$6,804.00	\$613.47	\$1,840.41	\$465.00	\$1,395.00
		Chairs w/arms	12	\$456.54	\$5,478.48	\$437.94	\$5,255.28	\$513.07	\$6,156.84	\$538.56	\$6,462.72	\$280.80	\$3,369.60
			COURT ROOM TOTAL		\$82,722.19		\$82,333.57		\$71,332.46		\$62,895.48		\$43,275.85
		COUNT	Y COURT AT LAW DEPT TOTAL		\$108,999.74		\$110,428.44		\$106,591.12		\$102,301.47		\$69,168.26
STAFF BREAK	ROOM												
Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost								
A136	·												
		Square Tables	6	\$401.55	\$2,409.30	\$359.56	\$2,157.36	\$601.94	\$3,611.64	\$624.43	\$3,746.58	\$314.13	\$1,884.78
		Chairs	24	\$101.22	\$2,429.28	\$106.86	\$2,564.52	\$167.56	\$4,021.44	\$192.77	\$4,626.48	\$91.80	\$2,203.20
		Refridgerator	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,200.00	\$1,200.00



				Steelcase	e (Option 1)	HON (Option 2)		ODP		P Furniture Solutions		Office Desi	gn Concepts
			STAFF BREAKROOM TOTAL		\$4,838.58		\$4,721.88		\$7,633.08		\$8,373.06		\$5,287.98
Attorney Lou	ınge												
Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost
A136				-			l	-		-		-	l.
		Small Round Pub Style Table	3	\$412.36	\$1,237.08	\$387.84	\$1,163.52	\$601.94	\$1,805.82	\$808.52	\$2,425.56	\$505.80	\$1,517.40
		Chairs	9	\$179.76		\$231.90		\$622.99		\$288.23		\$326.25	\$2,936.25
		Square Table	4	\$383.35	\$1,533.40	\$359.56		\$597.57		\$624.43		\$397.53	\$1,590.12
		Chairs	16	\$101.22		\$106.86		\$404.21		\$192.77		\$220.00	\$3,520.00
			ATTORNEY LOUNGE		\$6,007.84	, 55.55	\$6,398.54		\$16,270.37		\$10,601.67		\$9,563.77
Interview Ro	ooms				40,000.00		***,********		¥=0,=0 0000		,, · ·		40,000
Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost
C105											•		
		Square Table	1	\$469.56	\$469.56	\$369.66	\$369.66	\$601.94	\$601.94	\$624.43	\$624.43	\$314.10	\$314.10
		Chairs	4	\$147.00	\$588.00	\$236.54	\$946.16	\$381.97		\$192.77		\$115.65	\$462.60
C104													
		Square Table	1	\$469.56	\$469.56	\$369.66	\$369.66	\$601.94	\$601.94	\$624.43	\$624.43	\$314.10	\$314.10
		Chairs	4	\$147.00		\$236.54		\$381.97		\$192.77		\$115.65	\$462.60
C103											•		•
		Retangular Table	1	\$680.77	\$680.77	\$381.78	\$369.66	\$3,364.68	\$3,364.68	\$624.43	\$624.43	\$432.45	\$432.45
		Chairs	6	\$147.00		\$236.54		\$381.97		\$192.77		\$115.65	\$693.90
E105				·		·	·						
		Retangular Table	1	\$680.77	\$680.77	\$381.78	\$369.66	\$3,364.68	\$3,364.68	\$624.43	\$624.43	\$432.45	\$432.45
		Chairs	6	\$147.00		\$236.54		\$381.97		\$192.77		\$115.65	\$693.90
E104								-					
		SQUARE TABLE	1	\$469.56	\$469.56	\$369.66	\$369.66	\$601.94	\$601.94	\$624.43	\$624.43	\$314.10	\$314.10
		Chairs	4	\$147.00		\$236.54		\$381.97	\$1,527.88	\$192.77		\$115.65	\$462.60
E103								-					·
		SQUARE TABLE	1	\$469.56	\$469.56	\$369.66	\$369.66	\$601.94	\$601.94	\$624.43	\$624.43	\$314.10	\$314.10
		Chairs	4	\$147.00		\$236.54		\$381.97		\$192.77		\$115.65	
			INTERVIEW DOOMS TOTAL	Ţ = W. 100	\$7,355.78	Ţ.Eccion	\$7,894.92	, , , ,	\$19,832.28	, 202	\$9,144.14	Ţ	\$5,359.50
INICORMATIO	NAME OF THE OWNER.		INTERVIEW ROOMS TOTAL		Ψ7,333.76		Ψ7,034.32		Ψ19,032.20		ψ3,144.14		ψ0,000.00
INFORMATIO		Furniture Request:	# of Items Needed	¢ non kom	Estimated Cost	¢ man laam	Estimated Cost	Ć was Ikawa	Estimated Cost	Ĉ was laam	Estimated Cost	\$ per Item	Estimated Cost
Room #	Location, Description & Staff	Furniture Request:	# or items Needed	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per item	Estimated Cost
E110													*
		Square Table	1	\$469.56		\$369.66		\$601.94		\$624.43		\$314.10	\$314.10
		Chairs	4	\$147.00		\$236.54		\$381.97		\$192.77		\$115.65	\$462.60
			INFORMATION ALCOVE		\$1,057.56		\$1,315.82		\$2,129.82		\$1,395.51		\$776.70
POLICE WAI			_										
Room #	Location, Description & Staff	Furniture Request:	# of Items Needed	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost	\$ per Item	Estimated Cost
E110													
		Square Table	1	\$469.56		\$369.66		\$601.94		\$624.43		\$314.10	\$314.10
		Chairs	4	\$147.00	\$588.00	\$236.54	\$946.16	\$381.97	\$1,527.88	\$192.77	\$771.08	\$115.65	\$462.60
			POLICE WAITING		\$1,057.56		\$1,315.82		\$2,129.82		\$1,395.51		\$776.70
			FURNITURE TOTAL		\$482,981.88		\$460,984.25		\$521,784.81		\$610,038.28		\$350,725.38

RFP 2025 - 005 FURNITURE BID TABULATIONS





ODP **Furniture Solutions** Office Design Concepts Steelcase (Option 1) **HON (Option 2)** FREIGHT, DELIVERY & INSTALL Location, Description & Staff Furniture Request: # of Items Needed \$ per Item Estimated Cost \$ per Item Estimated Cost Estimated Cost \$ per Item Estimated Cost \$ per Item **Estimated Cost** \$ per Item HON Tariff Surcharge \$0.00 \$0.00 \$7,774.09 \$7,774.09 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 1 \$1,010.00 \$1,010.00 \$1,010.00 \$1,010.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 NPS Freight \$0.00 \$11,564.00 \$11,564.00 \$11,564.00 \$11,564.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Agati Freight ULINE Freight \$470.00 \$470.00 \$470.00 \$470.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 1 \$350.00 \$350.00 \$350.00 \$350.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$20,182.77 Flash Furniture Frieght 1 \$0.00 Delivery & Installation 1 \$40,100.00 \$40,100.00 \$40.100.00 \$40,100.00 \$72,504,71 \$72,504,71 \$68,974,35 \$68,974,35 \$33,637,94 DELIVERY & INSTALL TOTAL \$53,494.00 \$61,268.09 \$72,504.71 \$68,974.35 \$53,820.71 **Funiture Solutions** Steelcase \$536,475.88 HON \$516,293.06 ODP \$594,289.52 \$679,012.63 ODC \$390,200.14 TOTAL